OREE. BEFICHTIERMSMREANERER (BEE)

B uSvh(RA4o0—R)LNER)

- — I I RE B
ﬁﬁ:&% /,EJJ}TEE 951'% /EIIIEi’JJ_Fﬁ i‘ﬂ“,a:E M6 % 500m i‘HjﬁE‘] -

HF/NER 2A5H i B 0.08 0.06
R /NER 2R48 i B 0.07 0.06
F=INER 2R78 £ B 0.07 0.07
g | BN 2A8H | WA 0.08 0.08
FR/INFER 2A15H £ Bz 0.07 0.06
[LIRINERR 2H21H i B 0.06 0.06
LR INERR 2R7H i W E 0.08 0.08
ARET/NERR 2H821H i B 0.07 0.07

KR 2R4H i B 0.07 0.07

PR (g PR 28198 = B 0.08 0.06

=R 2A8H £ B BE 0.05 0.05
HITDOREREE 2R4H i E3E 0.06 0.05
LEICLKGRER 2H4H i ESE 0.07 0.06
LolRERE 2A5H i ESE 0.08 0.08
IZIKGRER 2A5H i E3E 0.09 0.08
m=E VASHhHRER 2A7H = E Rz 0.07 0.06
FALEOREE 2A7H i ESE 0.07 0.06
HIEHERBEE 2A8H i E3E 0.09 0.07
PODKRREE 2A8H i ESE 0.09 0.09
NUVILYRBE 2R 128 = EE 0.08 0.07
THEAEUVREER 28128 £ B35 0.06 0.05
R RERELVS— 2H218 iE | 5K | 004 0.04
Pt ,E;ﬁ THRREL 24— 2H14H £ | 50K | 006 0.05
g |HERESE 2A5H B | 50K | 008 0.07
mIRELE 2A15H £ | J5UKF | 007 0.06

Tl I BUEE) A E 2R 12H = | BEfi#A| 009 0.08

BHERE R 28198 = ~E 0.05 0.05

i/ ARRBRENE 28198 = ~E 0.05 0.05

iz T AR 28148 i ~E 0.06 0.06

HHLENE 2H22H i NES 0.05 0.05

S MIAG LN 2H22H i ~E 0.09 0.06

AE - P AR (££K%)| 2R22H W |#Em@sE 005 0.05

MR (2 BMIES) 2H22H B | IIEEAI| 006 0.05

Eiig/ EREAE 28198 = ~E 0.06 0.06

NEBELER-HAE-TELS 28128 = YNES 0.07 0.06

FINE 2R 14H = NES 0.09 0.08

FELIABILG 2H18H i NES 0.09 0.07

Z ¥ HEIRE R 28158 55 N 0.09 0.08

S 2| REEBEEXETICHESERRIEAETD-OFHE. 6ATAERT

HEYHE 2A18H i ERE 0.06 0.05
S K9 ANYHE 28 15H = E5E 0.06 0.05
PEEYHE 2R 14H = E5E 0.06 0.06
FEYHE 2H21H i E3]E 0.07 0.06

XHIE B klL. 0 EDIERBE3EIserLT- T RIE VN A B3 uIE A A)

SGAEHR L, B 7OMATAHILER)RE O FL—a Y —_R AL A—HRTCS—172B




